5 A 15 B

R
9h49 m 40 s

0 0 0.0
9 49 40
-9
49 40
3 410
-0 0.0
0 52 450
9 19 301
10 12 1541
-12
-1h 47 m 449 s
-26°56 " 13 "
0.0340740741
18°53 " 46 ”
0 0 29
18°54 " 15~
60°36 55 ”

119°23 " 57
238 23 40
357°46 ' 45 ”

HA=a AA

146 ”

KBIZEXH2AMNAEGTES
B o= TOt #E B= 36 °30 22”7 £AIH 2004 4
AHIE  TO6 ZE L= 139 °52 " 32 "~ giaE HRLUE=
Lo ) 0° 90 °
2 E & R L L
BEoE T-= 9h29 m 125 s 9h33 m 585 s 9h46 m 450 s
BEHME AT=+ 0 0 0.0 0 0 0.0 0 0 0.0
RIS Z T= 9 29 125 9 33 585 9 46 450
PRFFEDOEE A10=+) -9 -9 -9
HEEF UT= 0 29 125 0 33 585 0 46 450
HRBOREDKZE  E0= 0 3 410 0 3 410 3 410
WIEE AE=+) -0 0.0 -0 0.0 -0 0.0
HHFRE AUT = 0 32 535 0 37 395 0 50 260
HASDEE A=+ 9 19 30.1 9 19 301 9 19 301
BRI SDOBRKEZEE ALT = 9 52 236 9 57 9.6 10 9 56.1
HERLOBEZE =+) -12 -12 -12
BrA (BERE) th= —2h 7 m364 s -2h 2 m 504 s -1h50 m 39 s
B (AE) t= -31°54 7 6 ” -30°42 ' 36 ” -27°30 ' 58 ”
UT/24h D= 0.0202835648 0.0235937500 0.0324652778
HEBORFDERFE J0= 18°53 46 ” 18°53 ' 46 ” 18°53 ' 46 ”
WESE AS=+ 0 0 17 0 0 20 0 0 27
HRIRFORIRE 6= 18°54 * 3 " 18°54 ' 6 " 18°54 ° 13 "
HExkkLY s-= 66 °29 41 " 65°10 ’ 26 ” 61°21 °20 ”
KEDARLH S= 113°30 ' 19 ” 114°49 " 34 ” 118°38 ° 40 ”
(m-s)=+) 244 16 30 242 57 45 239 8 40
ARIEDH LA A= 357°46 49 ” 357°47 ' 19 ” 357°47 ° 20 "
th %% A/n= 357 °47° 3”7
s &
L & A B = BEARE HAxE BREFERKIY
0° 128 ” -30 ” 3 5" HBR4EE U S0=
90° 125 -35 " B 61-=
HEE 48 EO0=
HEHKX S =arctan(sint/(tan O* cos B-sin B * cos t)) 2H El =

K0,S<K0 > S=-9

0,870 = S=360- S’
t<0,S>0 = S=180- S’
t0,S<0=S=180- ¢

HEIE £EMPEFESTVSO. METREMETE>THRADIGENHYET,



